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Sample Paper – 2010
Class – X

Subject –Mathematics
 Time allowed: 3 hours                                                                                                            M.Marks: 80

General Instructions: 
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SECTION – A
1   If 2x, x+10, 3x+2 are in A.P., find the value of x.
2.   In  ∆ABC , DE || BC and 
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, if AC = 8 cm, find AE.

3.   State Fundamental theorem of Arithmetic.

4.   For what value of k, 
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 will have real roots.

5.  Write the quadratic polynomial, the product and the sum of whose zeroes are             

     
[image: image3.wmf]1

6

-

-

and

 respectively

6.   Find the median , if mean = 100 and mode = 112.

7 .  If in a right triangle ABC, right angled at B,  
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sin
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A

, find  Cos C.

8.   In the figure, if AC = 9 cm then

        what is the  measure of BD?

9.   Find the volume of a right circular cone with base diameter 10.5 cm and height 14 cm.

10.  Find the number of solutions of the following pair of linear equations
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11.  Find other zeros of the polynomial 
[image: image6.wmf]2

6

3

3

2

2

3

4

-

+

-

-

x

x

x

x

, if it is given that two of its    

       zeros are 
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 and  
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12.  which term of the AP 
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 will be 120 more than its 21st term?

13. Find the value of p for which the points 
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 are collinear?

14. Find the value of 
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Without using trignometrical tables, evaluate                               
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15.    A circle touches the side BC of  (ABC at P,



    and touches the side AB and AC at Q and R                           


     respectively as shown in figure.  Prove                                                              
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that     AQ  =  
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 ( perimeter of (ABC)

   
                    

        SECTION-C

16.  prove that 
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 17.  Prove that
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    is an irrational number.

18.  19 cards numbered 
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    are put in a box and mixed thoroughly.  One person  

        draws one card from the box.  Find the probability that the number on the card is

         (i) even

(ii) a prime
(iii) divisible by 3.

19.  Construct a 
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. Construct a    

        triangle similar to this triangle whose sides are 
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of the  corresponding sides of the triangle  

        ABC.

20.   The line segment joining the points 
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 is bisected at the point P and Q.       

        Such that P is nearer to A.  If P also lies on the line given by 
[image: image20.wmf]0

2

=

+

-

k

y

x

, find the value of   

        k.

21.  solve for x and y
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               (OR)

         solve for x: 
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22. The coordinates of the mid point of the line joining the points 
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.  Find the values of 
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In the given fig., ABC is a right triangle, right-angled at B.  AD and CE are the two medians drawn from A and C respectively.  If AC=5cm and AD   =[image: image26.png]


 cm, find the length of CE.
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24.   In the fig., PQ=24 cm, PR = 7 cm and O is the centre of the circle.  Find the area   of      

        shaded region (Take  π =3.14)

25.  The  sum of n terms of an AP is 5n2 - 3n. Find the AP . Hence find its 10 th term.

SECTION D ( Question number 26 to 30 are of 6 marks each)
26.  A 2-digit number is such that product of its digits is 18.  When 63 is subtracted from the  

        number, the digits interchange their places.  Find the number.
     (OR)

      A train covers a distance of90 km at a uniform speed.  Had the speed been 15    

      km/hour more, it would have taken 30 minutes less for the journey.  Find the original 
       speed of the train.
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27. If a line is drawn parallel to one side of a triangle, the other two sides are divided in   

      the same ratio - prove.  Use this result to prove the following. 
       In the given fig. DE||BC. Find [image: image28.png]EC.




28.   From a point on the ground 40 m away from the foot of a tower, the angles of elevation of        

        the top of the tower and top of the water tank, which is fixed at the top of tower are     

         respectively [image: image30.png]30°



 and [image: image32.png]45°



.  Find 

(i) Height of the tower

(ii) Depth of the water tank (take [image: image34.png]


)

29.    The median of the following data is 525.

	Class interval
	Frequency

	0-100
	2



	100-200


	5



	200-300


	X



	300-400


	12



	400-500


	17

	500-600


	20



	600-700


	Y



	700-800


	9



	800-900
	7

	900-1000
	4


Find the values of x and y if the total frequency is 100.
30.    The external radius of a hollow right circular cylindrical pipe is 9 cm and its height is 14 cm.     

           The volume of the metal used to make the pipe is [image: image36.png]748 cm?®



.  Find the thickness of the pipe.
       (OR)

        The internal radii of the ends of a bucket, full of milk and of internal height 16 cm     

         are 14 cm and 7 cm.  If this milk is poured into a hemispherical vessel, the vessel is 
        completely filled.  Find the internal diameter of the hemispherical vessel.

Paper Submitted by: SURESH B

Email : sureshvidhya2005@rediffmail.com

Ph No. : 9443019183

All questions are compulsory.


This question paper consists of 30 questions divided into four Sections A, B, C and D. Section-A consist of 10 questions of 01 marks each, Section -B consists of 5 questions of 02 marks each,  Section - C consist of 10 questions 03 marks each and  Section – D  consist of 5  questions 06 marks each.


There is no overall choice. However, internal choice has been provided in one question of Section- B, three questions of Section-C and two questions of Section-D. You have to attempt only one of the alternatives in all such questions.


All questions in section – A are to be answered in one word, one sentence or as per the exact requirement of the question.


In question of construction, drawings should be neat and exactly as per the given measurements.


Use of calculator is not permitted.
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